
Results and correlations

AKKd = −0.198 +0.144
−0.145

+0.019
−0.020 (1)

AKπd = −0.032± 0.041 +0.019
−0.020 (2)

Aππd = −0.092± 0.217 ± 0.019 (3)

AKKs = −0.044± 0.073 +0.019
−0.020 (4)

AπKs = −0.014± 0.025± 0.019 (5)

Aππs = 0.064 +0.130
−0.131

+0.018
−0.019 (6)

RKK
d = 1.054 +0.165

−0.153 ± 0.044 (7)

Rππ
d = 1.214 +0.283

−0.252 ± 0.053 (8)

R−
d = 0.056 +0.032

−0.030
+0.009
−0.012 (9)

R+
d = 0.057 +0.029

−0.027
+0.009
−0.012 (10)

RKK
ds = 0.103 +0.018

−0.016 ± 0.009 (11)

Rππ
ds = 0.147 +0.040

−0.036 ± 0.012 (12)
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Table 1: Statistical correlation coefficients between observables.
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Table 2: Systematic correlation coefficients between observables.
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